



SAKARYA ÜNİVERSİTESİ

FEN BİLİMLERİ ENSTİTÜSÜ DERGİSİ

Sakarya University Journal of Science
SAUJS

ISSN 1301-4048 e-ISSN 2147-835X Period Bimonthly Founded 1997 Publisher Sakarya University
<http://www.saujs.sakarya.edu.tr/>

Title: Stability of Partial Differential Equations by Mahgoub Transform Method

Authors: Harun BİÇER

Received: 2022-07-07 00:00:00

Accepted: 2022-10-23 00:00:00

Article Type: Research Article

Volume: 26

Issue: 6

Month: December

Year: 2022

Pages: 1267-1273

How to cite

Harun BİÇER; (2022), Stability of Partial Differential Equations by Mahgoub Transform Method. Sakarya University Journal of Science, 26(6), 1267-1273, DOI: 10.16984/saufenbilder.1142084

Access link

<https://dergipark.org.tr/en/pub/saufenbilder/issue/74051/1142084>

New submission to SAUJS

<http://dergipark.gov.tr/journal/1115/submission/start>

Stability of Partial Differential Equations by Mahgoub Transform Method

Harun BIÇER*¹ 

Abstract

The stability theory is an important research area in the qualitative analysis of partial differential equations. The Hyers-Ulam stability for a partial differential equation has a very close exact solution to the approximate solution of the differential equation and the error is very small which can be estimated. This study examines Hyers-Ulam and Hyers-Ulam Rassias stability of second order partial differential equations. We present a new method for research of the Hyers-Ulam stability of partial differential equations with the help of the Mahgoub transform. The Mahgoub transform method is practical as a fundamental tool to demonstrate the original result on this study. Finally, we give an example to illustrate main results. Our findings make a contribution to the topic and complete those in the relevant literature.

Keywords: Hyers-Ulam stability, Mahgoub transform, partial differential equation

1. INTRODUCTION

In the domains of chemistry, biology, engineering, physics, economics etc., partial differential equations can be used as very effective tools for mathematical modeling of systems and processes. Therefore, several real-world events related to the sciences and engineering method disciplines depend greatly on the qualitative characteristics of partial differential equation solutions. However, we do not want to go into the specifics of the partial differential equation applications here. This material highlights the significance of

researching qualitative characteristics, Hyers-Ulam stability (HUS) and Hyers-Ulam Rassias stability (HURS) of partial differential equations.

The classic Fourier integral is where the Mahgoub transform gets its name. Mahgoub improved the Mahgoub transform to make it easier to solve ordinary and partial differential equations in the time domain. The most practical mathematical methods for solving differential equations are often Fourier, Laplace, Elzaki, Aboodh, Sumudu and Mahgoub transforms. In order to solve

* Corresponding author: hbicer@bingol.edu.tr

¹ Bingöl University

ORCID: <https://orcid.org/0000-0002-9854-0595>



differential equations, the Mahgoub transform and some of its essential features are also used.

Ulam discussed the stability of homomorphism in 1940 (see [1]). Hyers [2] in the Banach spaces provided a partial solution to this puzzle. Numerous academics have since studied the stability problems of functional differential equations (see [1-18]).

In 2009, Jung [7] studied the (HUS) of first-order linear partial differential equations

$$au_x(x, y) + bu_y(x, y) + g(y)u(x, y) + h(y) = 0$$

and

$$au_x(x, y) + bu_y(x, y) + g(x)u(x, y) + h(x) = 0$$

in the cases of $a \leq 0, b > 0$ and $a > 0, b \leq 0, (a, b \in \mathbb{R})$ respectively.

Thereafter, Lungu and Popa [9] proved the (HUS) of first order partial differential equation of the form

$$p(x, t)u_x + q(x, t)u_t = p(x, t)r(x)u + f(x, t).$$

Huang and Li [10] proved the (HUS) of the first order linear partial differential equations in n-dimensional space.

See, in particular, the publications of Biçer and Tunç [3-4], Jung and Brzdek [8], Huang and Li [10], Otrocal and Ilea [12], and Tunç and Biçer [16] and the references therein for additional results on the (HUS) of ordinary or partial differential equations.

In this study, using Mahgoub transform method, we investigate the (HUS) of the homogeneous and nonhomogeneous second order partial differential equations

$$u_{\gamma\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa) = 0, \quad (1)$$

$$u_{\gamma\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa) = g(\gamma, \kappa) \quad (2)$$

for $(\gamma, \kappa) \in D, D = I \times I, I = [a, b], f \in C(I \times I) = \{g: I \times I \rightarrow \mathbb{R}: g \text{ is continuous}\}, -\infty < a < b < \infty.$

2. PRELIMINARIES

This section introduces several common terminologies and notations that will help to support our primary findings.

If there exist constants $X, Y \in \mathbb{R}$ such that

$$|h_1(z)| \leq X e^{Yt}$$

for all $z \geq 0$, then the function $h_1: [0, \infty) \rightarrow \mathbb{R}$ is of exponential order.

Similarly, if there exist constants $X, Y \in \mathbb{R}$ such that

$$|h_2(z)| \leq X e^{Yt}$$

for all $z \geq 0$, then the function $h_2: (-\infty, 0] \rightarrow \mathbb{R}$ is of exponential order.

Definition 2.1. ([1]) The definition of Mahgoub integral transform for the function $u: [0, \infty) \rightarrow \mathbb{R}$ is

$$\mathcal{M}\{u(\kappa)\} = v \int_0^{\infty} u(s) e^{-vs} ds = U(v),$$

in which \mathcal{M} is the Mahgoub integral transform operator.

If $u(\kappa)$ is piecewise continuous and of exponential order, the Mahgoub integral transform for the function $u: [0, \infty) \rightarrow \mathbb{R}$ exists. These are the only prerequisites that are sufficient conditions for the existence the Mahgoub transform of the function $u(\kappa)$.

For partial differential equation, the Mahgoub transform of the function $u(\gamma, \kappa)$ is

$$\mathcal{M}\{u(\gamma, \kappa)\} = v \int_0^{\infty} u(\gamma, s) e^{-vs} ds = U(\gamma, v).$$

Using integration by parts we obtain the Mahgoub transform for partial derivatives as follows:

$$\mathcal{M}\{u_\gamma(\gamma, \kappa)\} = v \int_0^\infty u_\gamma(\gamma, s)e^{-vs} ds = \frac{d}{d\gamma} U(\gamma, v),$$

$$\begin{aligned} \mathcal{M}\{u_{\gamma\gamma}(\gamma, \kappa)\} &= v \int_0^\infty u_{\gamma\gamma}(\gamma, s)e^{-vs} ds \\ &= \frac{d^2}{d\gamma^2} U(\gamma, v), \end{aligned}$$

$$\begin{aligned} \mathcal{M}\{u_\kappa(\gamma, \kappa)\} &= v \int_0^\infty u_\kappa(\gamma, s)e^{-vs} ds \\ &= vU(\gamma, v) - vu(\gamma, 0), \end{aligned}$$

$$\begin{aligned} \mathcal{M}\{u_{\kappa\kappa}(\gamma, \kappa)\} &= v \int_0^\infty u_{\kappa\kappa}(\gamma, s)e^{-vs} ds \\ &= v^2 U(\gamma, v) - v^2 u(\gamma, 0) \\ &\quad - vu_\kappa(\gamma, 0). \end{aligned}$$

Definition 2.2 ([1]) Let u and w be Lebesgue-integrable functions on $(-\infty, \infty)$. The convolution of the functions $u(\kappa)$ and $w(\kappa)$ is denoted by $u(\kappa) * w(\kappa)$ and is defined by

$$\begin{aligned} u(\kappa) * w(\kappa) &= (u * w)(\kappa) \\ &= \int_{-\infty}^\infty u(s)w(\kappa - s)ds. \end{aligned}$$

Theorem 2.3. (Convolution theorem for Mahgoub transform) ([1]). Suppose that $u(\kappa)$ and $w(\kappa)$ are given functions defined for $\kappa \geq 0$. If $\mathcal{M}\{u(\kappa)\} = U(v)$ and $\mathcal{M}\{w(\kappa)\} = W(v)$, then

$$\mathcal{M}\{u(\kappa) * w(\kappa)\} = \frac{1}{v} U(v)W(v).$$

Definition 2.4. If there is a constant $K > 0$ such that if for $\varepsilon > 0$, there exists $u: I \times I \rightarrow \mathbb{R}$, fulfilling the inequality

$$|u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa)| \leq \varepsilon$$

for all $(\gamma, \kappa) \in D$, then there exists a solution $w: I \times I \rightarrow \mathbb{R}$ satisfying the differential equation

$$w_{\kappa\kappa}(\gamma, \kappa) = \lambda^2 w(\gamma, \kappa)$$

such that

$$|u(\gamma, \kappa) - w(\gamma, \kappa)| \leq K\varepsilon$$

for all $(\gamma, \kappa) \in D$, where K is the (HUS) constant for (1). In this case, we say that the differential equation (1) has the (HUS).

Definition 2.5. If there is a constant $K_\varphi > 0$ such that if for every $\varepsilon > 0$, there exists $u: I \times I \rightarrow \mathbb{R}$, fulfilling the inequality

$$|u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa) - g(\gamma, \kappa)| \leq \varepsilon\varphi(\gamma, \kappa)$$

for all $(\gamma, \kappa) \in D$, then there exists a solution $w: I \times I \rightarrow \mathbb{R}$ satisfying the differential equation

$$w_{\kappa\kappa}(\gamma, \kappa) = \lambda^2 w(\gamma, \kappa) + g(\gamma, \kappa)$$

such that

$$|u(\gamma, \kappa) - w(\gamma, \kappa)| \leq K_\varphi \varepsilon \varphi(\gamma, \kappa)$$

for all $(\gamma, \kappa) \in D$. We call such K_φ the (HURS) constant for (2). In this case, we say that the differential equation (1) has the (HURS).

3. MAIN RESULTS

Theorem 3.1. The differential equation (1) has the (HUS).

Proof. Let $\varepsilon > 0$. Assume that $u: I \times I \rightarrow \mathbb{R}$ satisfies

$$|u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa)| \leq \varepsilon \tag{3}$$

for all $(\gamma, \kappa) \in D$. We will show that there exists a $K > 0$ such that

$$|u(\gamma, \kappa) - w(\gamma, \kappa)| \leq K\varepsilon$$

for some $w: I \times I \rightarrow \mathbb{R}$ satisfying

$$w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa) = 0$$

for all $(\gamma, \kappa) \in D$. Define the function $p: I \times I \rightarrow \mathbb{R}$

by

$$p(\gamma, \kappa) =: u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa)$$

for all $(\gamma, \kappa) \in D$. By (3), we have

$$|p(\gamma, \kappa)| \leq \varepsilon.$$

Applying the Mahgoub transform to p , we obtain

$$\mathcal{M}\{p(\gamma, \kappa)\} = \frac{(v^2 - \lambda^2)\mathcal{M}\{u(\gamma, \kappa)\} - v^2 u(\gamma, 0) - v u_{\kappa}(\gamma, 0)}{v^2 - \lambda^2}, \quad (4)$$

and so

$$\mathcal{M}\{u(\gamma, \kappa)\} = \frac{\mathcal{M}\{p(\gamma, \kappa)\} + v^2 u(\gamma, 0) + v u_{\kappa}(\gamma, 0)}{v^2 - \lambda^2}. \quad (5)$$

From (4), a function $u_0: I \times I \rightarrow \mathbb{R}$ is a solution of (1) if and only if

$$(v^2 - \lambda^2)\mathcal{M}\{u_0\} - v^2 u_0(\gamma, 0) - v(u_0)_{\kappa}(\gamma, 0) = 0.$$

Set

$$w(\gamma, \kappa) = u(\gamma, 0) \left(\frac{e^{\lambda\kappa} + e^{-\lambda\kappa}}{2} \right) + u_{\kappa}(\gamma, 0) \left(\frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda} \right).$$

Then, we obtain $w(\gamma, 0) = u(\gamma, 0)$ and $w_{\kappa}(\gamma, 0) = u_{\kappa}(\gamma, 0)$. Applying the Mahgoub transform of w , we get

$$\mathcal{M}\{w(\gamma, \kappa)\} = \frac{v^2 u(\gamma, 0) + v u_{\kappa}(\gamma, 0)}{v^2 - \lambda^2}, \quad (6)$$

for $0 < \lambda < v$. Moreover,

$$\begin{aligned} & \mathcal{M}\{w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa)\} \\ &= (v^2 - \lambda^2)\mathcal{M}\{w(\gamma, \kappa)\} \\ & \quad - v^2 w(\gamma, 0) - v w_{\kappa}(\gamma, 0). \end{aligned}$$

Using (6), we get

$$\mathcal{M}\{w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa)\} = 0.$$

Since \mathcal{M} is a one-to-one linear operator, we have

$$w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa) = 0.$$

As a result of above equality, we say that w is a solution of (1). It follows from (5) and (6) that

$$\begin{aligned} & \mathcal{M}\{u(\gamma, \kappa)\} - \mathcal{M}\{w(\gamma, \kappa)\} \\ &= \frac{\mathcal{M}\{p(\gamma, \kappa)\} + v^2 u(\gamma, 0) + v u_{\kappa}(\gamma, 0)}{v^2 - \lambda^2} \\ & \quad - \frac{v^2 u(\gamma, 0) + v u_{\kappa}(\gamma, 0)}{v^2 - \lambda^2} \\ &= \frac{\mathcal{M}\{p(\gamma, \kappa)\}}{v^2 - \lambda^2}, \end{aligned}$$

$$\begin{aligned} & \mathcal{M}\{u(\gamma, \kappa)\} - \mathcal{M}\{w(\gamma, \kappa)\} \\ &= \mathcal{M}\left\{p(\gamma, \kappa) * \left(\frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda} \right)\right\}. \end{aligned}$$

From this equalities, we conclude that

$$u(\gamma, \kappa) - w(\gamma, \kappa) = p(\gamma, \kappa) * \left(\frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda} \right).$$

Using $|p(\gamma, \kappa)| \leq \varepsilon$ and taking the modulus on both sides of above equality, we obtain

$$\begin{aligned} & |u(\gamma, \kappa) - w(\gamma, \kappa)| \\ &= \left| p(\gamma, \kappa) * \left(\frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda} \right) \right| \\ &\leq \left| \int_{-\infty}^{\infty} p(\gamma, s) \left(\frac{e^{\lambda(\kappa-s)} - e^{-\lambda(\kappa-s)}}{2\lambda} \right) ds \right| \\ &\leq \varepsilon \left| \int_{-\infty}^{\infty} \left(\frac{e^{\lambda(\kappa-s)} - e^{-\lambda(\kappa-s)}}{2\lambda} \right) ds \right| \end{aligned}$$

for all $(\gamma, \kappa) \in D$, where

$$K = \left| \int_{-\infty}^{\infty} \left(\frac{e^{\lambda(\kappa-s)} - e^{-\lambda(\kappa-s)}}{2\lambda} \right) ds \right|.$$

Hence $|u(\gamma, \kappa) - w(\gamma, \kappa)| \leq K\varepsilon$.

Theorem 3.2. The differential equation (2) has the (HURS).

Proof. Let $\varepsilon > 0$ and $\varphi \in C(I \times I)$. Assume that $u: I \times I \rightarrow \mathbb{R}$ satisfies

$$|u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa) - g(\gamma, \kappa)| \leq \varepsilon\varphi(\gamma, \kappa) \quad (7)$$

for all $(\gamma, \kappa) \in D$. We will show that there exists a $K_\varphi > 0$ such that

$$|u(\gamma, \kappa) - w(\gamma, \kappa)| \leq K_\varphi \varepsilon\varphi(\gamma, \kappa)$$

for some $w: I \times I \rightarrow \mathbb{R}$ satisfying

$$w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa) = g(\gamma, \kappa)$$

for all $(\gamma, \kappa) \in D$. Define the function $p: I \times I \rightarrow \mathbb{R}$ by

$$p(\gamma, \kappa) =: u_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 u(\gamma, \kappa) - g(\gamma, \kappa)$$

for all $(\gamma, \kappa) \in D$. By (7), we have

$$|p(\gamma, \kappa)| \leq \varepsilon\varphi(\gamma, \kappa).$$

Applying the Mahgoub transform to p , we obtain

$$\mathcal{M}\{p(\gamma, \kappa)\} = (v^2 - \lambda^2)\mathcal{M}\{u(\gamma, \kappa)\} - v^2 u(\gamma, 0) - v u_\kappa(\gamma, 0) - \mathcal{M}\{g(\gamma, \kappa)\},$$

and so

$$\mathcal{M}\{u(\gamma, \kappa)\} = \frac{\mathcal{M}\{p(\gamma, \kappa)\} + v^2 u(\gamma, 0) + v u_\kappa(\gamma, 0) + \mathcal{M}\{g(\gamma, \kappa)\}}{v^2 - \lambda^2}. \quad (8)$$

From (8), a function $u_0: I \times I \rightarrow \mathbb{R}$ is a solution of (2) if and only if

$$\mathcal{M}\{g(\gamma, \kappa)\} = (v^2 - \lambda^2)\mathcal{M}\{u_0\} - v^2 u_0 - v(u_0)_\kappa(\gamma, 0).$$

Putting $r(\kappa) = \frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda}$, we obtain

$$w(\gamma, \kappa) = u(\gamma, 0) \left(\frac{e^{\lambda\kappa} + e^{-\lambda\kappa}}{2} \right) + u_\kappa(\gamma, 0)r(\kappa) + [r(\kappa) * g(\gamma, \kappa)].$$

Then, we have $w(\gamma, 0) = u(\gamma, 0)$ and $w_\kappa(\gamma, 0) = u_\kappa(\gamma, 0)$. Applying the Mahgoub transform of w , we get

$$\mathcal{M}\{w(\gamma, \kappa)\} = \frac{v^2 u(\gamma, 0) + v u_\kappa(\gamma, 0) + \mathcal{M}\{g(\gamma, \kappa)\}}{v^2 - \lambda^2} \quad (9)$$

for $0 < \lambda < v$. As opposed to that,

$$\begin{aligned} \mathcal{M}\{w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa)\} &= (v^2 - \lambda^2)\mathcal{M}\{w(\gamma, \kappa)\} \\ &\quad - v^2 w(\gamma, 0) - v w_\kappa(\gamma, 0). \end{aligned}$$

Using (9), we have

$$\mathcal{M}\{w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa)\} = \mathcal{M}\{g(\gamma, \kappa)\}.$$

The last equality implies that

$$w_{\kappa\kappa}(\gamma, \kappa) - \lambda^2 w(\gamma, \kappa) = g(\gamma, \kappa).$$

This means that w is a solution of (2). It follows from (8) and (9) that

$$\begin{aligned} \mathcal{M}\{u(\gamma, \kappa)\} - \mathcal{M}\{w(\gamma, \kappa)\} &= \frac{\mathcal{M}\{p(\gamma, \kappa)\}}{v^2 - \lambda^2} \\ &= \mathcal{M}\{p(\gamma, \kappa) * r(\kappa)\}. \end{aligned}$$

Thus $u - w = p * r$. Using $|p(\gamma, \kappa)| \leq \varepsilon\varphi(\gamma, \kappa)$ and taking the modulus on both sides of above equality, we obtain

$$\begin{aligned} |u(\gamma, \kappa) - w(\gamma, \kappa)| &= \left| p(\gamma, \kappa) * \left(\frac{e^{\lambda\kappa} - e^{-\lambda\kappa}}{2\lambda} \right) \right| \\ &\leq \left| \int_{-\infty}^{\infty} p(\gamma, s)r(\kappa - s)ds \right| \\ &\leq \varepsilon\varphi(\gamma, \kappa) \left| \int_{-\infty}^{\infty} \left(\frac{e^{\lambda(\kappa-s)} - e^{-\lambda(\kappa-s)}}{2\lambda} \right) ds \right| \\ &\leq K_\varphi \varepsilon\varphi(\gamma, \kappa) \end{aligned}$$

where

$$K_\varphi = \left| \int_{-\infty}^{\infty} \left(\frac{e^{\lambda(\kappa-s)} - e^{-\lambda(\kappa-s)}}{2\lambda} \right) ds \right|.$$

The proof is now complete.

Example 3.3. Consider

$$u_{\kappa\kappa}(\gamma, \kappa) - 4u(\gamma, \kappa) = 2\sin\kappa, \quad (10)$$

in which $g(\gamma, \kappa) = 2\sin\kappa$ is a function of exponential order and $\lambda = 2$.

If a continuously differentiable function $y: I \times I \rightarrow \mathbb{R}$ satisfies

$$|y_{\kappa\kappa}(\gamma, \kappa) - 4y(\gamma, \kappa) - 2\sin\kappa| \leq \varepsilon$$

for some $\varepsilon > 0$ and all $\kappa \geq 0$, then there exists a solution $w: I \times I \rightarrow \mathbb{R}$ of differential equation (10) such that

$$|y(\gamma, \kappa) - w(\gamma, \kappa)| \leq K_\varphi \varepsilon,$$

for all $x \geq 0$. Here

$$K_\varphi = \left| \int_{-\infty}^{\infty} \left(\frac{e^{2(\kappa-s)} - e^{-2(\kappa-s)}}{4} \right) ds \right|.$$

4. CONCLUSION

In this study, we used the Mahgoub transform to examine the (HUS) of second order homogeneous partial differential equation and (HURS) of second order nonhomogeneous partial differential equation. This study also demonstrates that the Mahgoub transform method is more practical for looking at stability issues with partial differential equations.

Funding

The author (s) has no received any financial support for the research, authorship or publication of this study.

The Declaration of Conflict of Interest/ Common Interest

No conflict of interest or common interest has been declared by the authors.

The Declaration of Ethics Committee Approval

This study does not require ethics committee permission or any special permission.

The Declaration of Research and Publication Ethics

The authors of the paper declare that they comply with the scientific, ethical and quotation rules of SAUJS in all processes of the paper and that they do not make any falsification on the data collected. In addition, they declare that Sakarya University Journal of Science and its editorial board have no responsibility for any ethical violations that may be encountered, and that this study has not been evaluated in any academic publication environment other than Sakarya University Journal of Science.

REFERENCES

- [1] S. M. Ulam, "Problems in Modern Mathematics," Science Editions, John Wiley & Sons, Inc., New York, 1964.
- [2] D. H. Hyers, "On the stability of the linear Functional equation," Proceedings of the National Academy of Sciences, U.S.A., vol. 27, pp. 222-224, 1941.
- [3] E. Biçer, C. Tunç, "New Theorems for Hyers-Ulam stability of Lienard equation with variable time lags," International Journal of Mathematics and Computer Science, vol. 3, no. 2, pp. 231-242, 2018.
- [4] E. Biçer, C. Tunç, "On the Hyers-Ulam stability of certain partial differential equations of second order," Nonlinear Dynamics and Systems Theory, vol. 17, no.2, pp. 150-157, 2017.
- [5] D. H. Hyers, T. M. Rassias, "Approximate homomorphisms," Aequationes Mathematicae, vol. 44, pp. 125-153, 1992.
- [6] D. H. Hyers, G. Isac, TM. Rassias, "Stability of Functional Equations in Several Variables," Progress in

Nonlinear Differential Equations and their Applications, vol. 34, Boston, 1998.

- [7] S. M. Jung, "Hyers–Ulam stability of linear partial differential equations of first order," *Applied Mathematics Letters*, vol. 22, no.1, pp. 70-74, 2009.
- [8] S. M. Jung, J. Brzdek, "Hyers-Ulam stability of the delay equation $y'(t)=\lambda y(t-\tau)$," *Abstract and Applied Analysis*, vol. 2010, pp. 1-10, 2010.
- [9] N. Lungu, D. Popa, "Hyers-Ulam stability of a first order partial differential equation," *Journal of Mathematical Analysis and Applications*, vol. 385, pp. 86-91, 2012.
- [10] J. Huang, Y. Li, "Hyers-Ulam Stability of Linear Functional Differential Equation," *Journal of Mathematical Analysis and Applications*, pp. 1192-1200, 2015.
- [11] M. Obłozza, "Connections between Hyers and Lyapunov stability of the ordinary differential equations," *Rocznik Naukowo Dydaktyczny Wsp W Krakowie*, vol. 14, pp. 141-146, 1997.
- [12] D. Otrocol, V. Ilea, "Ulam stability for a delay differential equation," *Central European Journal of Mathematics*, vol. 11, no. 7, pp. 1296-1303, 2013.
- [13] T.M. Rassias, "On the stability of the linear mapping in Banach spaces," *Proceedings of the American Mathematical Society*, vol. 72, no. 2, pp. 297-300, 1978.
- [14] T. M. Rassias, "On the Stability of Functional Equations and a Problem of Ulam," *Acta Applicandae Mathematicae*, vol. 62, pp. 23-130, 2000.
- [15] S. E. Takahasi, T. Miura, S. Miyajima, "On the Hyers-Ulam stability of the Banach space-valued differential equation $y'=\lambda y$," *Bulletin of the Korean Mathematical Society*, vol. 39, pp. 309-315, 2002.
- [16] C. Tunç, E. Biçer, "Hyers-Ulam-Rassias stability for a first order functional differential equation," *Journal of Mathematical and Fundamental Sciences*, vol. 47, no. 2, pp. 143-153, 2015.
- [17] S. M. Jung, P. S. Arumugam, R. Murali, "Mahgoub Transform and Hyers Ulam stability of first order linear differential equations," *Journal of Mathematical Inequalities*, vol.15, no. 3, pp. 1201-1218, 2021.
- [18] S. Aggarwal, N. Sarma, N. Chauhan, "Solution of linear Volterra integro-differential equations of second kind using Mahgoub transform," *International Journal of Latest Technology in Engineering Management and Applied Science*, vol. 7, no. 5, pp. 173-176, 2018.